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(2) 3546

(@) Use the concept of the production possibilities fronl'tier

(®)

©

(@

to explain the concept of an efficient outcome. Explain
the difference between a straight line and a concave

production possibilities frontier. 5

Using indifference curves analysis, the impact of a change

in price of a normal good on its consumption. using

substitution and income effects.® . 5
Consider a non-linear d@ curvey 5
: N3

= N
$

Where A and B are positive constants.

()  Show that the price elasticity of demand for this

demand curve is (-B) at all points on the demand

curve.

(ify  Write the equation of the total expenditure curve.
(i) Suppose B =2. Will the total expenditure rise when

price increases ?

I FETEAl 9sh (production possibility frontier)

F TerIdl ¥ I (efficiency) i1 STALRUM = '

YISET | T W (straight line) T ST (concave)

()

(0

(a)

®)

DSVVﬁan a“ I@ﬁ'g@ m ﬁgﬁﬁ% at StudentSuvidha.com

(3) 3546
I a3k faeeroo (indifference curve analysis) 1

WEEd ¥ HiHa qRadT & giommeesy eR el
YT 9 31 gE (substitution and income effects)

CalkCE

frafafed sifes @fm @ W faar =i,
@A, =({F)

SE A F B ¥AIEH [ORE T

() Tz fF 3@ A9 S & wedt fagel W

":l"h %I HHd A" (price elasticity of demand)
(=B) T

(i) TS T I (total expenditure curve) T THHIIT
ferfer | |

Gi) HA AT B =21 ¥ Himw § gfg &
wRomraes = § gfg @i 2

Discuss the effects of a price floor imposed by the

government in the labor market. 5

If the world price of a-good exceeds the domestic price
of the good, will the country export or import the
good ?-In this case, who gains from trade — domestic

consumers or producers or both ? 5

PTO.
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(4)

3546
(¢)  Explain how and why a per unit tax. creates dead Weight (5) 3546
| losses in the market. Can the dead weight losses b, of drone strikes on the petrol market in the world and
avoided if the consumers and producers voluntarily donate subsequently the used car market. 5
the tax amount and the government repeals the tax in the | (6) /' How and why does a firm's average total cost curve differ
market ? 5 in the short run and the long run ? 5
(@) SH «ISIH T HIHd i ~qAdH -'Fﬂm_(price floor) ¥ | | (C_) Calculate the income elasticity of demand of good X from
ﬁ;q IR & YRuHEEy  3TTasTE (short run) &N\ the following data. Hence, conclude whether X is an
HEEI! (long run) ¥ R T W’@? 9_GHINS . inferior or normal good. . 5
gt 1 foeeA =S S\\ - ~ PRICEOF QUANTITY OF INCOME OF
B T fE aw gﬁ@@ma U e FE GOOD X (Rs.) GOOD X THE CONSUMER
ﬁm%,ﬁw% wa}—gmﬁahm' 10 ks 50 100
wifew =1 o ? 56 Rk W or @ R 2 - 200
A — e SHNEdST W A SREH W oA . " | -
e

(@ e oRa U 'l ¥ W W SN THA 4 qEl B
T & H H AR W e § o afomreEsy
TE B FY 9 SARd W SToUSTd H HTh!

© EHgs fF fra gar 9fT s A & TRemTEEd
SR H e WX THEN (dead weight loss) ST

M ¥ AR TERR T R H T % SR ST FH BN H FEE ¥ 1 T SH B B RO
3 IEH WSl O L i URT A TH HL S A fava & Vet SR T qEIRR ST g IR
T HA AR R B T ST EHA ¥ 2 | '

o & SR W B o guE & faEe s

(@)  The recent drone attacks on Saudi Arabia destroyed oil || b) wH @ 3@?@"1'3 Eﬁ%l?ﬁ? 3Td FA AN

facilities and the country’s crude oil production is expected |! g% fea YHR ST '@%f % A w2
to reduce significan dy in the short
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(6) 3546

fretferfien offrgl i WeEd | T X H Hm
= 37 e I T i | 39 e et
fir a1 O] X T €A (inferior) T € I W
(normal) T T

a5 X i

T X W IqTIEAT Shi

(%) Rl A
50 100

10 I \\Q®
20 40 (§ 200

10 @$ 400

(@)

(b)

A country levic‘s a 3% digital tax on the revenues earned
by a local internet search engine company. The company
responds by reducing the hourly wage rateé of all its
employees. Using indifference curve am_llysis, show how
the workers may respond to reduction in their wage rate.
Will your analysis depend on whether ieisure i.s normal

or inferior ? 7

The demand curve for Metro rides for a female employee

- Vidhi is given by : 8

(@

(7)) 3546
Where Q is the number of metro rides she takes per month

and P is the cost of the metro ticket.

(0] _ Suppose the supply of metro services she avails
‘ is perfectly elastic at Rupees 30 per ride between
two destinations. Find the equilibrium number of
rides taken by Vidhi per month and the consumer

surplus enjoyed by her.

- (i) The government proposes to make metro rides free

for all women. Calculate the new equilibrium rides

and the consumer surplus she now €njoys.

(fif)  If Rupees 30 represents the total cost per ride to
the supplier of metro services, do you think the

extra trips Vidhi takes is economically justified ?

Th W TH W 30R w4 S5 g7 Fwm
T TS W 3% &1 fefsieq 2 @m 21 €1 s
TR H A o w5 ufy sve
T B A ¥ e T i
F e ¥ vy e wEAd s T w
H 1 R TR R ® W ¥ w s
faeciom g0 s W ek war € 7 SRE (eisure)
E= § e g ?
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(8) | | 3546

¢ uE ueen wHer fafa gAY ¥ R I aeh
el g A ww YRR T

1
P=50-3Q

5T @ SH g uf HiE B | HT W Al amned
ﬁw%ampﬁﬁiﬁlﬁﬂﬁaﬁm%l

U

(i)

(i)

M i ﬁmmﬁaﬁ RaR

e TS W T 3%@ LI oy
t{\“iﬁ eI (pcrfect{&&stlc) %l "HﬁE'FI Al
Wﬁﬁﬁl@%@%%ﬁﬁﬁﬂ?ﬂﬁaﬁ

H T AU ITH I9LT DN (consumer

surplus) 1 FTA-SHITTT |

WHR H T Amedt h meft wheenst ¥g

TR FA FT T A ¥ TE T o
q el Yt gem qun sasdeRT SRy 3
Hify |

afe ¥ [a YSHIT ¥G HS N 30 TIC. YiY
e ®, q F SR oen § i fafa gwo
&I WM et sifafed aemd et w9

(@)

(6)

(©

-zero profits ? Explain.

(9) 3546
Define price discrimination. Can perfect price
discrimination remove the dead weight loss associated

with a monopoly ? 4

Why do competitive firms stay in business if they make
4

Consider two countries Japan and Australia producing
two goods T-shirts and brownies. Each country has one

million workers. The following table gives the production

of two goods per worker per day in each country : 7

T-SHIRTS BROWNIES

[IN DOZENS]
JAPAN : 10 18
AUSTRALIA 10 10

()  Which country has absolute advantage in

producing brownies ?

(i) -Draw the production possibility frontier of both

countries.

(7if) By calculating opportunity cost, find which country
has comparative advantage in T-shirts and brownie

production ?

(7v) What should be the pattern of trade ?

LLC
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(10) 3546
Higa fade (price discrimination) =) TRerferg
ST | 31 90 ST TN (perfect price discriminatiop
THIHHR (monopoly) ¥ Trfeer A uR T
[ R Q@ E ?

wmﬁwﬁwﬁmaﬁgﬁ%qﬁ
d Y AW FAR ¥ ? wHEmmw)

ﬁﬂ?ﬁ@,a—méaamﬁa?ﬁaﬁaaaﬁw
aa‘@m“ﬁwaﬁ@%ﬂﬁf@awu&

W%ﬂﬁﬁﬂﬁg@g’wﬁfmuﬁﬁqm

fean gom ® . @QQ

a-uid W
[gsi1 ¥ ]
ST 10 18
st 10 10

() S B S § frg 2w B ww PRI
¥ (absolute advantage) ¥ 7

) SR Y B See T 9w sRted
it |

(iif)  STAEL TN (opportunity cost) 1 IO HTh

(11) 354

qAATTHS T (comparative advantag
fFo-Fg 2 & TN ¥ ?

(iv) SATIR &1 TEY (pattern of trade) T BN

ey ?

(@) Derive the demand curve for labour in the competiti

market. What causes the labour demand curve

shift ? Explain.

(b)) Why is a monopolist’s marginal revenue less than t
price of its goods ? Show the profit maximizing level

| output and price for a monopolist.

(¢0 Consider variable cost for a competitive firm in t

following table :

Quantity 0 1 2 3 4 5 6

TVC [Rs.] 0 5 9 14 20 28 38

. If the total fixed cost of the firm is Rs. 12 and price
output is Rs. 7, how many units of ourbut will this fi
produce ? What is total revenue and total cost ? W
the firm operate or shut down in the short run? Brie

explain.
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8¢ | 8 | OC | I 6 S 0 |(r'9)Rlw|
Ma W%
9 S 14 3 '/ [ 0 | Ll
t il Mek) h

Blelld @_%Es o % b Pk (POXY) Myl W
e 2k UolcBBLb B3 b wkbK ®h ()

3AD bhi® b 2y Wil Wit kbwhlle
xE%vﬁm%cW@wﬁwn 310 b he
EFF%EE@&E%EE% 9)
| n3lBhk ¢ mE@EiEWEE
% whe| wb bk le b |Dile ehoBo
ke b bk % his b Msls (3AnDedwod) |hbIK (v)
e (1)
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